Filters: Start Date - 9/23/2000; End Date - 9/23/2025; Equipment - 750L LGP JD DOZER [7911]

108-1

Work Order:

31832

Equipment:

750L LGP JD DOZER [7911]

Work Location:

Current Equipment Location

Created by: Kms: Carla Merklin

Kms: 1754 Hr: 1785 Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred

1T0750LXPNF420836

Machinery

5/31/2022 6/6/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
BARTLEY WEST	2.50 RT	Shop Weld Field	\$55.71	\$139.28
TREVOR IRONSIDE	24.00 RT	Shop Weld Field	\$55.71	\$1,337.04
			Total Labor	\$1,476.32
	100 5 1		115.00	445.00
FIRST AID KIT ALBERTA LEVEL1 (BAG) [F881N260]	1.00 Each	1	\$15.83	\$15.83
			Total Parts	\$15.83
			Total Equip	\$0.00
and the state of t			Total Cost	\$1,492.15

Item ID	Descript	cion	Completed By	Reported Hours
58554	7911 - rio	ı up	Carla Merklin	26.50
Work Orde	er:	33328	Status:	Transferred
Equipmen	75.5	750L LGP JD DOZER [7911]	Serial Number:	1T0750LXPNF420836
Work Loca	ation:	Current Equipment Location	Business Unit:	Machinery
Created by	y:	Carla Merklin	Start Date:	7/21/2022
Kms:		1754	Stop Date:	7/22/2022
Hr:		1785		

Description	Quantity	Labor Type	Rate	Total
JOHN GIBERSON	2.50 RT	Shop Mech Rky	\$49.05	\$122.63
			Total Labor	\$122.63
YELLOW S [TY25627]	2.00 Each	1	\$17.95	\$35.90
			Total Parts	\$35.90
			Total Equip	\$0.00
			Total Cost	\$158.53

Item ID	Description	Completed By	Reported Hours
61266	7911 - check over	Carla Merklin	2.50

* Change engine oil.

* Change engine filters -- oil and air.

* Change fuel filters.

* Check all fluids.

* Complete grease.

* Sample all oils.

Work Order: **Equipment:**

41527

750L LGP JD DOZER [7911]

Work Location:

Created by:

Brittinni Lockard

Kms: 1754 1785 Hr:

Status:

Serial Number:

Business Unit: Start Date: Stop Date:

Machinery

Transferred

1T0750LXPNF420836

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
FIRST AID KIT CSA TYPE 2 SMALL {F781N300} [FAKCSAT2SBN]	1.00 Each	\$27.48	\$27.48
	·	Total Parts	\$27.48
		Total Equip	\$0.00
		Total Cost	\$27.48

Item ID	Description	Completed By	Reported Hours
76640	7911 - BRANDT CHCECK OVER	Brittinni Lockard	0.00
Work Order:	42521	Status:	Transferred
Equipment:	750L LGP JD DOZER [7911]	Serial Number:	1T0750LXPNF420836
Work Location	n: Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	5/18/2023
Kms:	1754	Stop Date:	5/18/2023
Hr:	1785		

Description	Quantity	Labor Type	Rate	Total
JOHN GIBERSON	4.00 RT	Shop Mech Rky	\$49.05	\$196.20
			Total Labor	\$196.20
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$196.20

Notes:	623HRS		
Item ID	Description	Completed By	Reported Hours
78448	7911 - CHECK OVER	John Giberson	4.00

Work Order:

45172

Equipment:

750L LGP JD DOZER [7911]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms: Hr:

1754 1785 Status:

Serial Number:

Stop Date:

1T0750LXPNF420836 Machinery

Transferred

Business Unit: Start Date:

8/14/2023 8/31/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate
DAVE HUNT	3.00 RT	Shop Mech Field	\$59.34
TEVIN FERRIS	7.50 RT	Shop Mech Field	\$59.34
			Total Labor
LH END BIT 750L [T204081]	1.00 Each	1	\$50.00

\$50.00 RH END BIT 750L [T204080] \$50.00 \$50.00 1.00 Each \$100.00 **Total Parts** Total Equip \$0.00

Total Cost \$723.07

Total \$178.02 \$445.05 \$623.07

Item ID	Description	Completed By	Reported Hours
82921	7911 - CHECK OVER	Brittinni Lockard	10.50
Work Orde	r: 46997	Status:	Transferred
Equipment:	750L LGP JD DOZER [7911]	Serial Number:	1T0750LXPNF420836
Work Locat	ion: Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	10/6/2023
Kms:	1754	Stop Date:	10/6/2023
Hr:	1785		

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	2.00 RT	Shop Mech Field	\$59.34	\$118.68
			Total Labor	\$118.68
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$118.68

Item ID	Description	Completed By	Reported Hours
86659	7911 - T/S OIL LEAK, TIGHTEN TRACKS	Brittinni Lockard	2.00

- * Change all filters,

 * Change engine oil.

 * Change final drive oil.

 * Change winch oil.

 * Check all fluids,

- * Complete grease.
- * Sample all oils.

Work Order: **Equipment:**

53100

750L LGP JD DOZER [7911]

Work Location:

Current Equipment Location

Created by: Kms:

Andrew Matus

Hr:

1754 1785 Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

Closed

1T0750LXPNF420836

Machinery

4/15/2024 4/15/2024

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
MATTHEW GERVAIS	9.00 RT	Shop Mech Field	\$59.34	\$534.06
			Total Labor	\$534.06
CENTER CUTTING EDGE 750L [T204082]	0.00 Each		\$101.00	\$0.00
OUTER CUTTING EDGES 750L [T204083]	0.00 Each	1	\$114.00	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$534.06

Item ID Descri	ption	Completed By	Reported Hours
97487 7911 re	place cutting edge	Carla Merklin	9.00
Work Order:	54169	Status:	Closed
Equipment:	750L LGP JD DOZER [7911]	Serial Number:	1T0750LXPNF420836
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	5/16/2024
Kms:	1754	Stop Date:	5/16/2024
Hr:	1785		

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	5,00 RT	Shop Lube	\$41.17	\$205.85
			Total Labor	\$205.85
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$205.85

Item ID	Description	Completed By	Reported Hours
98559	0250 Hour Service	Anthony Rodriguez	5.00

86834 0500 Hour Service Anthony Rodriguez

3.00

- * Change engine oil.
- * Change engine filters -- oil and air.

 * Change fuel filters.

 * Check all fluids.

 * Complete grease.

- * Sample all oils.

Work Order:

59209

Equipment:

750L LGP JD DOZER [7911] **Current Equipment Location**

Work Location: Created by:

Brittinni Lockard

Kms: 1754 1785 Hr:

Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

Closed 1T0750LXPNF420836

Machinery

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JASON HOLLINGSWORTH	1.50 RT	Shop Mech Field	\$59.34	\$89.01
LEVI LOOMIS	3.50 RT	Shop Mech Field	\$59.34	\$207.69
			Total Labor	\$296.70
CENTER CUTTING EDGE 750L [T204082]	1.00 Each	1	\$101.00	\$101.00
LH END BIT 750L [T204081]	1.00 Each	Ì	\$50.00	\$50.00
OUTER CUTTING EDGES 750L [T204083]	2.00 Each	1	\$114.00	\$228.00
RH END BIT 750L [T204080]	1.00 Each	1	\$50.00	\$50.00
			Total Parts	\$429.00
			Total Equip	\$0.00
			Total Cost	\$725.70

Item ID Des	cription	Completed By	Reported Hours
108315 791	1 - GREASE FITTINGS AND NIPPLES	Carla Merklin	5,00
Work Order:	61268	Status:	Closed
Equipment:	750L LGP JD DOZER [7911]	Serial Number:	1T0750LXPNF420836
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Sienna Campbell	Start Date:	11/25/2024
Kms:	1754	Stop Date:	11/25/2024
Hr:	1785		

Description	Quantity	Labor Type	Rate	Total
KRIS VAN UNEN	2,50 RT	Shop Mech Rky	\$49,05	\$122.63
			Total Labor	\$122.63
-			Total Parts	\$0.00
			Total Equip	\$0.00
		······································	Total Cost	\$122.63

Item ID	Description	 Completed By	Reported Hours
` —————			

Work Order:

66281

Equipment:

750L LGP JD DOZER [7911]

Work Location:

Current Equipment Location

Created by:

Charles Hamelin

Kms:

1754

Status:

Serial Number:

Closed

Business Unit:

Machinery

Start Date: Stop Date:

4/21/2025 4/21/2025

1T0750LXPNF420836

Hr: 1785

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
J. HAMELIN	1.75 RT	Shop Lube	\$41.17	\$72.05
			Total Labor	\$72.05
	· · ·	77	Total Parts	\$0.00
	<u></u> .		Total Equip	\$0.00
			Total Cost	\$72.05

Item ID	Descript	don	Completed By	Reported Hours
121264	Replace F	filter	Charles Hamelin	1,75
Work Orde	r:	68069	Status:	Closed
Equipment	:	750L LGP JD DOZER [7911]	Serial Number:	1T0750LXPNF420836
Work Loca	tion:	Current Equipment Location	Business Unit:	Machinery
Created by	:	Al Sutherland	Start Date:	6/3/2025
Kms:		1754	Stop Date:	6/3/2025
Hr:		1785		

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	2.50 RT	Shop Mech Field	\$59.34	\$148.35
KENDRICK ROBINSON	1.50 RT	Shop Mech Rky	\$49.05	\$73.58
			Total Labor	\$221.93
18" WIPER BLADE [20181]	1,00 Each	1	\$5.85	\$5.85
			Total Parts	\$5.85
			Total Equip	\$0.00
			Total Cost	\$227.78

Item ID Description		Completed By	Reported Hours
124415	7911 check over	Brittinni Lockard	4.00

Work Order:

69044

Equipment:

750L LGP JD DOZER [7911]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

1754 1785 Status:

Serial Number:

Closed 1T0750LXPNF420836

Business Unit: Machinery Start Date: 6/20/2025

Stop Date:

6/20/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	2.00 RT	Shop Lube	\$41.17	\$82.34
			Total Labor	\$82.34
			Total Parts	\$0.00
	· · · · · · · · · · · · · · · · · · ·		Total Equip	\$0.00
L		,	Total Cost	\$82.34

Item ID	Description	Completed By	Reported Hours
123197	0250 Hour Service	Carla Merklin	2.00

- * Sample engine oil.
 * Check all fluids.
- * Complete grease.

Work Order: **Equipment:**

71220

750L LGP JD DOZER [7911]

Work Location: Created by:

Current Equipment Location

Kms:

Hunter Tschetter

1754 Hr: 1785 Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Closed

1T0750LXPNF420836

Machinery 8/5/2025 8/5/2025

Description	Quantity	Labor Type	Rate	Total
HUNTER TSCHETTER	2,00 RT	Shop Mech Field	\$59.34	\$118.68
KALEB GATES	5.00 RT	Shop Mech Field	\$59.34	\$296.70
			Total Labor	\$415.38
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$415.38

Item ID	Description	Completed By	Reported Hours
129561	7911; Inspection	Brittinni Lockard	7.00

- * Change all filters.
 * Change engine oil.
- * Change transmission oil 4503/6503 2000hr * Change transmission oil 750L/850L 4000hr

- * Change hydraulic oil 4503/6503 2000hr * Change hydraulic oil KOM D71 2000hr * Change hydraulic oil 750L/850L 4000hr * Change final drive oil.
- * Change winch oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: **Equipment:**

72762

750L LGP JD DOZER [7911]

Current Equipment Location

Work Location: Created by:

Benedict Siwak

Kms:

Hr:

1754

1785

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Scheduled

1T0750LXPNF420836

Machinery 9/6/2025

9/6/2025

	 _	
_	 	

Item ID	Description	Completed By	Reported Hours
132412	7911 sales check over		3.00